TBGD1.DWG

TRAFFIC BARRIER MOUNTING DETAIL

SCALE: 3/8” = 1'=0”

1°—8 1/2”
” 1 1""'2" |
6 1/2 = - Do
" /——<C.P. ARE
P, ARE
B2 )
' i ' f 1”¢ ANCHOR BOLT
[ Kl Bol [sfl4—""" PROVIDE 1 1/87 HOLE Ll
X 1 X %, | .
e NN A \ IRE
V4 S ¥———<C.P. AR
1"—6 AR
- ARE
TYP. IRK
RRE
SECTION E—F H H
SCALE' 1” = 1,"0” ll ||
ARE
=9
IRR
ERK
, ERE
- 5 1/2 TN
2 3/4"—=~ |—C/L PIVOT it
. 1 1/8”¢ HOLE FOR 178 ;E:
/ ( ANCHOR BOLT (BY OTHERS) it
® ® RN
— :E-EIE—EE',—E-E———i L—3 1/2” | L
° ® ' 7
» pd A
15/16"% HOLE FOR e A
7/8™ BOLTS / 1 3/4" L| Y
BOTTOM FLANGE ONLY—— IR
|
NEW TRAFFIC BARRIER TR
C/L EXISTING 21WF—= SUPPORT TOP FLANGE H H \\
\
DETAIL C H H \
SCALE: 1 1/2" = 1"=0" b,
=R \
ARE
PLUMB WHEN ERE \
FULLY OPENED—=1i | || \
ARE \
KRR \
ERE \
ARE \
KRR \
L \
o \
N=Ne \
TR \
ERE
" i l’ [} N
C/L BRIDGE —=t= 29'=3 3/47% 5-0 1/2"
|E| N
I:Ia
| I—-::::::
|
2'~0" MIN, - i _};/
CURB LINE —= L - :"I
L |
/ l
\ l“—‘"*“ﬂ}’
!ol
| \
i— L —
® ®
IV A N A 0N A N h U
IR | ——— e | D L A |
] A N A N . A N
Al ____2a~_3”
Hr = 1 = iU
/\ 11 1 i
- -
\ 1 1
n il
l Ll gl

- -4 1/2" _ 34 1/2" o
C/L EXISTING 21WF EXISTING 5”
OPEN GRID
— T C/L EXISTING
EXISTING 21WF (TYP.)—=| |l [=——EXISITNG I
(TYP.) | D4 x 4 x 3/8 i FLOORBEAM BRACKET
: | i‘
» '
EXISTING 3/8” PLATE ——=|| 1
, 2 3/4” SET— | T 7>‘2§T'§‘(G1 /2"
| I
FILL
: C/L PIVOT ::
CUT LINE FOR EXISTING :
OPEN GRID. SAW | ! . | SEE DETAIL C i ©
CUT ONLY : 1/2" CLEAR (TYP.)—.I——" ON THIS DRAWING I -
} I !
- -.I - o= - - R i - - — - - - - -—:
] l:::t:::::::::::i—.-[:— J;:L%:q#j:i'::::::::#a = et Q
C/L NEW TRAFFIC 2 | sl \CHNILY Sl ke ll * m
BARRIER N | Ty T T ) N
A ok | FAE O ] |F o |
ST -
. | aal IF = NS
\
T | ) !! A r Tl
— = H TN B0 SR — i — Oy
e - - I T T v e =1
r ﬂ; = :;L Tl Y e T | i :_'_
L L S Tt e I
| I L I
D | | il G| | D
| L [ i g EXISTING 1/2" x 1 1/2"
| ‘ Il
] e J FILL PLATE
=3 | 13
1”8 ANCHOR BOLTS
x 2 3/4” x 4" VIEW A—A (8 PLACES) ,
PLATE (TYP.) E - “‘, ) L 4 x 4 x 1/2” (TYP.) | l : -
SCALE: 1”7 = 1'=0 ,
CUT HOLE TO J
MATCH CONDUIT -
TYP. NEW 1/2”
FILL PLATE
[~—C/L PINOT DETA”; H, .
- | | SCALE: 1 1/2" = 1'=0
NOTE: DIMENSION "X” INDICATES NEW 178 ANCHOR —
FABRICATION BASED ON VERIFIED BOLTS . BARRIER GATE
FIELD MEASUREMENTS , OPERATOR
3/4” =R 2 — 7/8% BOLTS
EXISTING L 4 x 4 x 3/8—— T \ i r”z (TYP.) N 1 |
EXISTING 3/8” PLATE —|| | T — i -
2 — 7/8% BOLTS ——I[_ | A !
- SEE DETAIL H ON

THIS DRAWING

i L il
s
\ 1/2” x 2 3/4” \
STIFFENER PLATE

3/4" x 3/4”
5[0 %~ c{uD / \— (TP 3/4”¢ DRAIN HOLES
S2=8 FIT TO BEAR (TYP.) UNDER C/L OF NEW
T Py " i BEAM (TYP.)
| © NEW SUPPORT
) BRACKET, SEE EL————-J
it DETAIL ON , AN
_ » N DRAWING NO. 48 ——>/4 NEW L 4 x 4 x 1/2 EXISTING 21WF
2 — 7/8%8 BOLTS . e ) o)
NOTES: SECTION D-D

1. PROVIDE 7/8 INCH DIAMETER A325 BOLTS. SCALE: 17 = 10

2. PROVIDE STRUCTURAL STEEL CONFORMING TO A709—GR36.

3. SAW CUT AND REMOVE THE EXISTING OPEN GRID, WITHIN THE 7. VERIFY ALL DIMENSIONS, BOTH THOSE SHOWN AND THOSE

LIMITS SHOWN, USING AIR—ARC PROCEDURES. RETAIN THIS PIECE
OF GRID AND MODIFY AS REQUIRED TO FILL IN AROUND THE

OPERATOR.

NOT SHOWN, AND PROVIDE A COPY TO THE ENGINEER FOR
APPROVAL PRIOR TO FABRICATION.
8. FOR SECTION B-B, F—F, F'—F" AND G—G SEE DRAWING

4, EMBED ADHESIVE ANCHOR BOLTS 10 INCHES INTO THE MEDIAN NO. 48.
OR AS REQUIRED TO PROVIDE A MINIMUM PULL OUT STRENGTH
OF 35,000 POUNDS PER ANCHOR BOLT.

5. SAW CUT AND REMOVE A PORTION OF THE EXISTING BOX BEAM
MEDIAN, AS REQUIRED. IF AN EXISTING MEDIAN BARRIER SUPPORT
POST INTERFERES WITH THE NEW END LOCK, CONTACT THE

ENGINEER.

6. PROVIDE A PAINT SYSTEM FOR ALL NEW STRUCTURAL STEEL,
INCLUDING TOUCH—-UP OF ALL AREAS DAMAGED BY THE CONTRACTOR,
THAT IS IN CONFORMANCE WITH THE STANDARD SPECIFICATIONS.

STATE OF NORTH CAROLINA

DEPARTMENT OF TRANSPORTATION

RALEIGH

CAPE FEAR RIVER CROSSING
WILMINGTON, NORTH CAROLINA

VA
F 08 ~F005_ TRAFFIC BARRIER GATE DETAILS — 1
MODJEISKI ad MASTERS  CENTURY SOUTHERN, INC., | -
4909 LOUISE DRIVE * SPARTANBURG, SC 20301 DESIGNED K.MW. JOHNS | DETAILED  R.L. REED DATE APRIL, 2005

MECHANICSBURG, PA 170565

CHECKED  M.C. IRWIN CHECKED  M.C. IRWIN DRAWING NO. 47 OF 53




